BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:

LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025

LJA ENGINEERING, INC.

S. YOUNG MARCH 04, 2025 1931-9027D (9.2)

BIDDER NAME	BASE BID	ALTERNATE BID PLUS BASE BID
1) DIMAS BROS. CONSTRUCTION	\$2,012,184.00	\$3,338,000.00
2) HURTADO CONSTRUCTION COMPANY	\$2,213,406.43	\$3,631,992.88
3) PRINCIPAL SERVICES, LTD	\$2,484,502.20	\$4,075,807.20
4) R CONSTRUCTION CIVIL, LLC	\$2,615,898.80	\$3,979,576.05
5) LONNIE LISCHKA COMPANY, LP	\$2,685,690.65	\$4,300,643.99
6) CRACON, INC	\$2,708,362.75	\$4,089,743.25

CALENDAR DAYS 190/210

CLAYTON C. WEISHUHN

127645

CENSE
ONAL ENG

3/4/25

I, CLAYTON WEISHUHN, P.E., hereby certify these bid tabulations to be true and correct.

TO SERVE EVERGREEN SECTION 7 FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF DOCUMEN COUNTY POND COUNTY TOYAG

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025 LJA ENGINEERING, INC.

S. YOUNG MARCH 04, 2025 1931-9027D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

				1) DIMAS BROS	. CONSTRUCTION	2) HURTADO CONSTRUCTION COMPANY		3) PRINCIPAL S	SERVICES, LTD	4) R CONSTRUCTION CIVIL,	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	D WATER ITEMS . 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	4464	\$36.00	\$160,704.00	\$35.88	\$160,168.32	\$35.00	\$156,240.00	\$36.00	\$160,704.00
2	8" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	58	\$76.15	\$4,416.70	\$78.00	\$4,524.00	\$93.00	\$5,394.00	\$97.00	\$5,626.00
3	. TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	4522	\$1.00	\$4,522.00	\$0.08	\$361.76	\$0.10	\$452.20	\$1.00	\$4,522.00
4	. 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	12	\$1,684.00	\$20,208.00	\$1,800.00	\$21,600.00	\$2,133.00	\$25,596.00	\$2,300.00	\$27,600.00
5	FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$5,800.00	\$63,800.00	\$6,800.00	\$74,800.00	\$7,015.00	\$77,165.00	\$7,000.00	\$77,000.00
6	. 8" PLUG & CLAMP, COMPLETE IN PLACE	EA	4	\$420.00	\$1,680.00	\$390.00	\$1,560.00	\$323.00	\$1,292.00	\$250.00	\$1,000.00
7	. 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	4	\$684.00	\$2,736.00	\$2,800.00	\$11,200.00	\$1,828.00	\$7,312.00	\$1,600.00	\$6,400.00
8	SHORT SIDE DOUBLE OR SINGLE SERVICE, 1" (TYPE "K" SOFT COPPER SERVICE LINE), WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	30	\$765.00	\$22,950.00	\$1,278.00	\$38,340.00	\$1,194.00	\$35,820.00	\$1,150.00	\$34,500.00
9	LONG SIDE DOUBLE OR SINGLE SERVICE, 1" (TYPE "K" SOFT COPPER SERVICE LINE), WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	32	\$1,784.00	\$57,088.00	\$2,748.00	\$87,936.00	\$2,460.00	\$78,720.00	\$2,500.00	\$80,000.00
10	. WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX,	EA	1	\$584.00	\$584.00	\$8.00	\$8.00	\$699.00	\$699.00	\$450.00	\$450.00
SUBTO	ALL DEPTHS COMPLETE IN PLACE AL BASE BID WATER ITEMS				\$338,688.70	-	\$400,498.08	_	\$388,690.20	_	\$397,802.00
	D SANITARY SEWER ITEMS .8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1931	\$38.50	\$74,343.50	\$45.00	\$86,895.00	\$37.00	\$71,447.00	\$34.00	\$65,654.00
2	. 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1832	\$39.00	\$71,448.00	\$45.88	\$84,052.16	\$37.00	\$67,784.00	\$35.00	\$64,120.00
3	. 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 12' - 16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	97	\$44.25	\$4,292.25	\$50.88	\$4,935.36	\$37.00	\$3,589.00	\$41.00	\$3,977.00
4	8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 16' - 20' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	564	\$47.50	\$26,790.00	\$58.00	\$32,712.00	\$37.00	\$20,868.00	\$50.00	\$28,200.00
5	. TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	6466	\$1.00	\$6,466.00	\$0.18	\$1,163.88	\$0.10	\$646.60	\$1.00	\$6,466.00
6	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	23	\$4,784.00	\$110,032.00	\$4,800.00	\$110,400.00	\$7,541.00	\$173,443.00	\$4,500.00	\$103,500.00
7	EXTRA VERTICAL DEPTH OF SANITARY SEWER MANHOLES (OVER 8' DEPTH), ALL SIZES, COMPLETE IN PLACE	VF	55	\$230.00	\$12,650.00	\$180.00	\$9,900.00	\$301.00	\$16,555.00	\$250.00	\$13,750.00
8	. STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$784.00	\$784.00	\$880.00	\$880.00	\$973.00	\$973.00	\$700.00	\$700.00 FRN F-138

LJA Engineering, Inc.

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025

LIA ENGINEERING, INC. S. YOUNG

MARCH 04, 2025 1931-9027D (9.2)

				1) DIMAS BROS.	CONSTRUCTION	2) HURTADO CONSTRUCTION COMPANY		COMPANY 3) PRINCIPAL SERVICES, LTD		4) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
<u> </u>	3. LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	30	\$3,435.00	\$103,050.00	\$5,230.00	\$156,900.00	\$2,835.00	\$85,050.00	\$3,100.00	\$93,000.00
10	D. SHORT SIDE SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	31	\$1,220.00	\$37,820.00	\$1,428.00	\$44,268.00	\$1,810.00	\$56,110.00	\$1,800.00	\$55,800.00
1:	I. SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD TO BE INSTALLED ON EXISTING 8" LINE, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,484.00	\$1,484.00	\$1,800.00	\$1,800.00	\$2,022.00	\$2,022.00	\$2,000.00	\$2,000.00
17	2. REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$184.00	\$368.00	\$8.00	\$16.00	\$142.00	\$284.00	\$170.00	\$340.00
13	 VIDEO INSPECTION AND CLEANING OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	LF	4424	\$0.10	\$442.40	\$0.08	\$353.92	\$0.10	\$442.40	\$2.20	\$9,732.80
14	ADDITIONAL COST FOR SANITARY SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	1000	\$1.00	\$1,000.00	\$0.01	\$10.00	\$1.00	\$1,000.00	\$10.00	\$10,000.00
	5. DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE TAL BASE BID SANITARY SEWER ITEMS	LF	100	\$1.00	\$100.00 \$451,070.15	\$0.01	\$1.00 \$534,287.32	\$35.00	\$3,500.00 \$503,714.00	\$20.00	\$2,000.00 \$459,239.80
	ID DRAINAGE ITEMS 1. 42" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	410	\$195.00	\$79,950.00	\$161.00	\$66,010.00	\$224.00	\$91,840.00	\$227.00	\$93,070.00
2	2. 48" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	748	\$212.85	\$159,211.80	\$195.00	\$145,860.00	\$275.00	\$205,700.00	\$255.00	\$190,740.00
3	3. 72" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	44	\$530.00	\$23,320.00	\$495.00	\$21,780.00	\$673.00	\$29,612.00	\$657.00	\$28,908.00
4	24" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	610	\$65.80	\$40,138.00	\$88.00	\$53,680.00	\$79.00	\$48,190.00	\$67.00	\$40,870.00
Ş	5. 30" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1364	\$73.00	\$99,572.00	\$91.00	\$124,124.00	\$94.00	\$128,216.00	\$96.00	\$130,944.00
6	5. 36" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	364	\$88.00	\$32,032.00	\$101.00	\$36,764.00	\$114.00	\$41,496.00	\$107.00	\$38,948.00
;	7. 42" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	84	\$112.00	\$9,408.00	\$185.00	\$15,540.00	\$149.00	\$12,516.00	\$137.00	\$11,508.00

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025 LJA ENGINEERING, INC.

S. YOUNG MARCH 04, 2025 1931-9027D (9.2)

			_)	
				1) DIMAS BROS	. CONSTRUCTION	2) HURTADO CONSTRUCTION COMPANY		3) PRINCIPAL	SERVICES, LTD	4) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
8	. 48" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1969	\$134.55	\$264,928.95	\$158.00	\$311,102.00	\$191.00	\$376,079.00	\$190.00	\$374,110.00
9	. 60" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	516	\$181.00	\$93,396.00	\$195.00	\$100,620.00	\$263.00	\$135,708.00	\$265.00	\$136,740.00
10	. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	6109	\$1.00	\$6,109.00	\$1.00	\$6,109.00	\$0.10	\$610.90	\$1.00	\$6,109.00
11	. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$4,284.00	\$47,124.00	\$3,268.00	\$35,948.00	\$3,884.00	\$42,724.00	\$3,700.00	\$40,700.00
12	. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$6,284.00	\$25,136.00	\$8,478.00	\$33,912.00	\$10,260.00	\$41,040.00	\$12,500.00	\$50,000.00
13	OVERSIZED REINFORCED CONCRETE JUNCTION BOX WITH TYPE "C" MANHOLE TOP (SEE DETAIL SHEETS 22-24, ATTACHMENT A), INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$29,684.00	\$178,104.00	\$25,898.00	\$155,388.00	\$40,405.00	\$242,430.00	\$51,000.00	\$306,000.00
14	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, WITH TYPE "E" INLET TOP, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$6,484.00	\$25,936.00	\$8,800.00	\$35,200.00	\$5,650.00	\$22,600.00	\$7,300.00	\$29,200.00
15	S. STAGE I – REINFORCED CONCRETE TYPE "H-2" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$1,145.00	\$22,900.00	\$1,078.00	\$21,560.00	\$1,433.00	\$28,660.00	\$1,500.00	\$30,000.00
16	S. STAGE II – REINFORCED CONCRETE TYPE "H-2" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$1,675.00	\$33,500.00	\$1,518.00	\$30,360.00	\$2,377.00	\$47,540.00	\$2,700.00	\$54,000.00
17	. STAGE I – REINFORCED CONCRETE TYPE "H-2" INLET W/5' EXTENSION, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,512.00	\$3,024.00	\$1,148.00	\$2,296.00	\$1,490.00	\$2,980.00	\$2,600.00	\$5,200.00
18	S. STAGE II – REINFORCED CONCRETE TYPE "H-2" INLET W/5' EXTENSION, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,151.00	\$4,302.00	\$1,588.00	\$3,176.00	\$2,824.00	\$5,648.00	\$2,700.00	\$5,400.00
19	D. STAGE I – REINFORCED CONCRETE TYPE "E" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,100.00	\$2,200.00	\$4,000.00	\$8,000.00	\$1,714.00	\$3,428.00	\$1,650.00	\$3,300.00
20	STAGE II – REINFORCED CONCRETE TYPE "E" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,100.00	\$2,200.00	\$4,000.00	\$8,000.00	\$1,000.00	\$2,000.00	\$1,650.00	\$3,300.00
21	. REMOVE AND OFFSITE DISPOSAL OF EXISTING 18" CONCRETE RIP-RAP, COMPLETE IN PLACE	SY	42	\$10.00	\$420.00	\$4.00	\$168.00	\$28.00	\$1,176.00	\$30.00	\$1,260.00
22	. 8" BRICK PLUG FOR 24" PPP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$24.00	\$24.00	\$294.00	\$294.00	\$700.00	\$700.00
23	. 8" BRICK PLUG FOR 36" PPP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$36.00	\$36.00	\$294.00	\$294.00	\$700.00	\$700.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025
LJA ENGINEERING, INC.

LJA ENGINEERING, I S. YOUNG MARCH 04, 2025 1931-9027D (9.2)

				1) DIMAS BROS	CONSTRUCTION	2) HURTADO CONSTRUCTION COMPANY		TION COMPANY 3) PRINCIPAL SERVICES, LTD			TON CIVIL, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
24	8" BRICK PLUG FOR 42" PPP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$42.00	\$42.00	\$294.00	\$294.00	\$700.00	\$700.00
25	. 8" BRICK PLUG FOR 60" PPP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$54.00	\$54.00	\$588.00	\$588.00	\$700.00	\$700.00
26	VIDEO INSPECTION AND CLEANING OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	6109	\$0.10	\$610.90	\$0.01	\$61.09	\$0.10	\$610.90	\$4.00	\$24,436.00
27	ADDITIONAL COST FOR STORM SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	1000	\$1.00	\$1,000.00	\$0.01	\$10.00	\$1.00	\$1,000.00	\$10.00	\$10,000.00
28	. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1000	\$1.00	\$1,000.00	\$0.01	\$10.00	\$1.00	\$1,000.00	\$20.00	\$20,000.00
29	CONNECT PROPOSED 48" RCP STORM SEWER TO EXISTING 48" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$2,000.00	\$2,000.00	\$328.00	\$328.00	\$700.00	\$700.00
30	REMOVE AND OFFSITE DISPOSAL OF EXISTING 48" RCP STORM SEWER 8" BRICK WALL PLUG AND CONNECT PROPOSED 48" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$200.00	\$200.00	\$328.00	\$328.00	\$700.00	\$700.00
31	REMOVE AND OFFSITE DISPOSAL OF EXISTING 42" RCP STORM SEWER 8" BRICK WALL PLUG AND CONNECT PROPOSED 42" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$200.00	\$200.00	\$328.00	\$328.00	\$700.00	\$700.00
	REMOVE AND OFFSITE DISPOSAL OF EXISTING 72" RCP STORM SEWER 8" BRICK WALL PLUG AND CONNECT PROPOSED 72" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$184.00 _	\$184.00	\$200.00	\$200.00	\$328.00	\$328.00	\$1,000.00	\$1,000.00
SUBTO	AL BASE BID DRAINAGE ITEMS				\$1,156,994.65		\$1,218,434.09		\$1,515,586.80		\$1,640,643.00
	D WS&D MISCELLANEOUS ITEMS INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	15882	\$0.10	\$1,588.20	\$0.55	\$8,735.10	\$0.10	\$1,588.20	\$2.00	\$31,764.00
2	INSTALL AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$800.00	\$800.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
3	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$200.00	\$200.00	\$1,800.00	\$1,800.00	\$500.00	\$500.00	\$1,400.00	\$1,400.00
4	. INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$800.00	\$800.00	\$100.00	\$100.00	\$500.00	\$500.00
5	ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	23	\$1.00	\$23.00	\$0.08	\$1.84	\$1.00	\$23.00	\$350.00	\$8,050.00
6	. INLET PROTECTION BARRIER FOR STAGE II INLET, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	40	\$10.00	\$400.00	\$1.00	\$40.00	\$10.00	\$400.00	\$50.00	\$2,000.00
7	BROADCASTING SEEDING FOR LOTS, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	22	\$50.00	\$1,100.00	\$1.00	\$22.00	\$400.00	\$8,800.00	\$650.00	\$14,300.00

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS MARCH 04, 2025

LIA ENGINEERING, INC.

S. YOUNG MARCH 04, 2025

1931-9027D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

				1) DIMAS BROS. CONSTRUCTION 2) HURTADO CONSTRUCTION COMPANY		3) PRINCIPAL	SERVICES, LTD	4) R CONSTRUCTION CIVIL, LLC			
NO. 8.	ITEM DESCRIPTION HYDROMULCH SEEDING FOR R.O.W., INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	QTY 3	\$100.00	\$300.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00	\$1,500.00	\$4,500.00
9.	EXTRA CEMENT STABILIZED SAND PER GEOTECHNICAL REPORT (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$22.00	\$2,200.00
10.	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$21,935.30	\$21,935.30	\$888.00	\$888.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
11.	CITY OF ROSENBERG PERMIT FEE, COMPLETE IN PLACE	LS	1	\$18,884.00	\$18,884.00	\$24,000.00	\$24,000.00	\$35,000.00	\$35,000.00	\$22,000.00	\$22,000.00
	INCENTIVE PAYMENT FOR EARLY ACHIEVEMENT OF SUBSTANTIAL COMPLETION UP TO A MAXIMUM OF 20 DAYS	DAY	20	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00
	AL BASE BID WS&D MISCELLANEOUS ITEMS				\$65,430.50		\$60,186.94		\$76,511.20		\$118,214.00
	ATE BID ALTERNATE NO. 1 ITEMS 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	1218	\$57.55	\$70,095.90	\$62.00	\$75,516.00	\$66.00	\$80,388.00	\$60.00	\$73,080.00
2.	6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	15596	\$50.60	\$789,157.60	\$52.00	\$810,992.00	\$61.50	\$959,154.00	\$50.00	\$779,800.00
3.	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	7411	\$3.65	\$27,050.15	\$3.98	\$29,495.78	\$4.50	\$33,349.50	\$4.00	\$29,644.00
4.	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1438	\$3.75	\$5,392.50	\$3.98	\$5,723.24	\$4.50	\$6,471.00	\$4.00	\$5,752.00
5.	3" TYPE "D" HOT MIX ASPHALT PAVEMENT WITH 8" BLACK BASE AND PRIME COAT, COMPLETE IN PLACE	SY	557	\$137.00	\$76,309.00	\$218.00	\$121,426.00	\$150.00	\$83,550.00	\$118.00	\$65,726.00
6.	8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	1989	\$3.75	\$7,458.75	\$2.88	\$5,728.32	\$5.00	\$9,945.00	\$6.00	\$11,934.00
7.	6" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	17433	\$3.65	\$63,630.45	\$2.88	\$50,207.04	\$4.50	\$78,448.50	\$4.25	\$74,090.25
8.	HYDRATED LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 48LBS/SY APPLICATION RATE, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	48	\$333.00	\$15,984.00	\$348.00	\$16,704.00	\$350.00	\$16,800.00	\$355.00	\$17,040.00
9.	HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION, 36LBS/SY APPLICATION RATE, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	314	\$328.00	\$102,992.00	\$348.00	\$109,272.00	\$350.00	\$109,900.00	\$355.00	\$111,470.00
10.	TYPE 7 ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	10	\$1,484.00	\$14,840.00	\$1,688.00	\$16,880.00	\$1,800.00	\$18,000.00	\$2,000.00	\$20,000.00
11.	24" FULL DEPTH SAWCUT EXISTING ASPHALT EDGE AND CONNECT PROPOSED ASPHALT PAVEMENT, COMPLETE IN PLACE	LF	125	\$25.00	\$3,125.00	\$43.00	\$5,375.00	\$25.00	\$3,125.00	\$47.00	\$5,875.00
12.	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	32	\$30.00	\$960.00	\$38.00	\$1,216.00	\$50.00	\$1,600.00	\$47.00	\$1,504.00
13.	TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$1,200.00	\$2,400.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00
14.	REMOVE AND RELOCATE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$0.02	\$0.02	\$50.00	\$50.00	\$1.00	\$1.00
15.	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	11	\$20.00	\$220.00	\$18.00	\$198.00	\$10.00	\$110.00	\$15.00	\$165.00 FRN F-138

LJA Engineering, Inc.

1) DIMAS BROS, CONSTRUCTION 2) HURTADO CONSTRUCTION COMPANY 3) PRINCIPAL SERVICES, LTD

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025 LJA ENGINEERING, INC. S. YOUNG

MARCH 04, 2025 1931-9027D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

			1) DIMAS BROS. (CONSTRUCTION	2) HURTADO CONSTRUCTION COMPANY		3) PRINCIPAL S	ERVICES, LTD	4) R CONSTRUCTION CIVIL, LLC		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
16. FINAL LOT GRADING, INCLUDING STRIPPING AND PROOFROLLIN EXCAVATION, HAULING, PLACEMENT AND COMPACTION OF MA AND PLACEMENT OF STRIPPINGS, COMPLETE IN PLACE		113	\$301.00	\$34,013.00	\$288.00	\$32,544.00	\$368.00	\$41,584.00	\$200.00	\$22,600.00	
17. FINAL RESERVE GRADING, INCLUDING STRIPPING AND PROOFR EXCAVATION, HAULING, PLACEMENT AND COMPACTION OF MA AND PLACEMENT OF STRIPPINGS, COMPLETE IN PLACE		10	\$500.00	\$5,000.00	\$288.00	\$2,880.00	\$300.00	\$3,000.00	\$380.00	\$3,800.00	
18. ROADWAY EXCAVATION, INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF STRIPPINGS TO APPLICABLE AREAS, COMPLETE IN PLACE	СУ	1997	\$5.00	\$9,985.00	\$3.88	\$7,748.36	\$7.00	\$13,979.00	\$6.00	\$11,982.00	
19. EMBANKMENT, INCLUDES DEMUCKING, REMOVING AND DISPO EXISTING UNSUITABLE MATERIAL BEFORE PLACING FILL, HAULII STRIPPING, STOCKPILING STRIPPINGS, PROOFROLLING, RE-APPI STRIPPINGS TO FILL AREA, PLACEMENT AND COMPACTION TO S STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND GRADING, COMPLETE IN PLACE	NG, LICATION OF 95%	2386	\$5.00	\$11,930.00	\$3.88	\$9,257.68	\$3.00	\$7,158.00	\$5.00	\$11,930.00	
20. REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	96	\$28.00	\$2,688.00	\$28.00	\$2,688.00	\$15.00	\$1,440.00	\$22.00	\$2,112.00	
21. PERMANENT TRAFFIC CONTROL DEVICES FOR EVERGEEN SECTION INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKE REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC COMPLETE IN PLACE	ERS,	1	\$11,194.15	\$11,194.15	\$27,268.61	\$27,268.61	\$6,500.00	\$6,500.00	\$18,000.00	\$18,000.00	
22. TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE E OF THE PROJECT, ALL PHASES, (FLAGGERS, CONES, ETC), PER TN INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE		1	\$500.00	\$500.00	\$800.00	\$800.00	\$6,500.00	\$6,500.00	\$12,000.00	\$12,000.00	
23. AS BUILT SURVEY OF ALL PAVEMENT HIGH POINTS AND LOW POUR RESERVES, INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WAS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	,	1	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$2,800.00	\$2,800.00	\$8,500.00	\$8,500.00	
24. DRAINAGE SWALE WITHIN RESERVES TO ENSURE POSITIVE DRA TOWARDS TYPE "E" INLETS, COMPLETE IN PLACE	NINAGE LF	353	\$3.00	\$1,059.00	\$3.00	\$1,059.00	\$10.00	\$3,530.00	\$3.00	\$1,059.00	
 REGRADE AND RE-ESTABLISH SIDE SLOPE AND EXISTING DRAIN. TO ENSURE POSITIVE DRAINAGE, (AS DIRECTED BY ENGINEER), IN PLACE 		2051	\$2.50	\$5,127.50	\$1.80	\$3,691.80	\$10.00	\$20,510.00	\$3.00	\$6,153.00	
 REGRADE EXISTING ROADSIDE DITCH TO EXISTING OR BETTER C UPON COMPLETION OF CONSTRUCTION, COMPLETE IN PLACE 	CONDITION LF	525	\$3.00	\$1,575.00	\$2.00	\$1,050.00	\$10.00	\$5,250.00	\$4.00	\$2,100.00	
27. DE-MUCK AND FILL EXISTING DRAINAGE SWALE	LF	25	\$10.00	\$250.00	\$1.40	\$35.00	\$25.00	\$625.00	\$50.00	\$1,250.00	
28. REMOVE AND DISPOSE OF EXISTING DRIVEWAY, COMPLETE IN	PLACE SY	308	\$10.00	\$3,080.00	\$8.00	\$2,464.00	\$35.00	\$10,780.00	\$8.00	\$2,464.00	
29. DUAL 6" PVC IRRIGATION SLEEVE, SCHEDULE 40, COMPLETE IN	PLACE LF	58	\$42.00	\$2,436.00	\$60.00	\$3,480.00	\$35.00	\$2,030.00	\$44.00	\$2,552.00	
30. 24" STORM SEWER CULVERTS, ASTM C-76 CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN	LF PLACE	246	\$81.00	\$19,926.00	\$98.00	\$24,108.00	\$106.00	\$26,076.00	\$89.00	\$21,894.00	
31. REINFORCED CONCRETE TYPE "D" INLET, INCLUDES INLET PROTECTION BARRIER, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$2,084.00	\$8,336.00	\$3,800.00	\$15,200.00	\$2,717.00	\$10,868.00	\$2,200.00	\$8,800.00 FRN F-138	

4) R CONSTRUCTION CIVIL. LLC

BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

 $\textbf{CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES \& ALTERNATE PAVING AND APPURTENANCES\\$

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025 LJA ENGINEERING, INC.

S. YOUNG

MARCH 04, 2025 1931-9027D (9.2)

				1) DIMAS BROS. CONSTRUCTION		2) HURTADO CONSTRUCTION COMPANY		ANY 3) PRINCIPAL SERVICES, LTD		4) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
32.	6:1 SAFETY END TREATMENTS FOR 24" RCP STORM	EA	4	\$1,000.00	\$4,000.00	\$2,588.00	\$10,352.00	\$2,696.00	\$10,784.00	\$2,500.00	\$10,000.00
	SEWER CULVERTS, COMPLETE IN PLACE										
33.	CITY OF ROSENBERG PERMIT FEE, COMPLETE IN PLACE	LS	1	\$21,100.00	\$21,100.00	\$14,226.60	\$14,226.60	\$14,000.00	\$14,000.00	\$13,000.00	\$13,000.00
34.	FORT BEND COUNTY CONSTRUCTION PERMIT FOR CONSTRUCTION OF IMPROVEMENTS IN EXISTING RIGHT OF WAY, INCLUDES BONDS, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
35.	INCENTIVE PAYMENT FOR EARLY ACHIEVEMENT OF SUBSTANTIAL COMPLETION UP TO A MAXIMUM OF 20 DAYS	DAY	20	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00
36.	DEDUCT BASE BID WS&D MISCELLANEOUS ITEM NO. 12 INCENTIVE PAYMENT FOR EARLY ACHIEVEMENT OF SUBSTANTIAL COMPLETION	DAY	20	-\$1,000.00	-\$20,000.00	-\$1,000.00	-\$20,000.00	-\$1,000.00	-\$20,000.00	-\$1,000.00	-\$20,000.00
SUBTOT	UP TO A MAXIMUM OF 20 DAYS AL ALTERNATE BID ALTERNATE NO. 1 ITEMS				\$1,325,816.00		\$1,418,586.45	_	\$1,591,305.00	_	\$1,363,677.25
BID SUN	IMARY										
BASE BIE) WATER ITEMS				\$338,688.70		\$400,498.08		\$388,690.20		\$397,802.00
BASE BIE	SANITARY SEWER ITEMS				\$451,070.15		\$534,287.32		\$503,714.00		\$459,239.80
BASE BIL	D DRAINAGE ITEMS				\$1,156,994.65		\$1,218,434.09		\$1,515,586.80		\$1,640,643.00
BASE BIL) WS&D MISCELLANEOUS ITEMS				\$65,430.50		\$60,186.94		\$76,511.20		\$118,214.00
TOTAL A	MOUNT BASE BID				\$2,012,184.00		\$2,213,406.43		\$2,484,502.20		\$2,615,898.80
ALTERN	ATE BID				Ť						
TOTAL A	MOUNT BASE BID				\$2,012,184.00		\$2,213,406.43		\$2,484,502.20		\$2,615,898.80
ALTERNA	ATE NO. 1 ITEMS				\$1,325,816.00		\$1,418,586.45		\$1,591,305.00		\$1,363,677.25
TOTAL A	LTERNATE BID PLUS BASE BID				\$3,338,000.00		\$3,631,992.88		\$4,075,807.20		\$3,979,576.05

6) CRACON, INC

TO SERVE EVERGREEN SECTION 7

5) LONNIE LISCHKA COMPANY, LP

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025 LJA ENGINEERING, INC.

S. YOUNG

MARCH 04, 2025 1931-9027D (9.2)

NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
	ATER HEMS PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, DDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	4464	\$40.75	\$181,908.00	\$42.00	\$187,488.00
RES	PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES TRAINED JOINT FITTINGS, BEDDING AND BACKFILL, DEPTHS, COMPLETE IN PLACE	LF	58	\$79.41	\$4,605.78	\$101.00	\$5,858.00
	NCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL ERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	4522	\$0.10	\$452.20	\$0.65	\$2,939.30
4. 8" A	AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	12	\$2,376.00	\$28,512.00	\$2,565.00	\$30,780.00
	E HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE .VE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$6,240.00	\$68,640.00	\$6,850.00	\$75,350.00
6. 8" F	PLUG & CLAMP, COMPLETE IN PLACE	EA	4	\$307.00	\$1,228.00	\$700.00	\$2,800.00
7. 2" E	BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	4	\$1,592.40	\$6,369.60	\$2,115.00	\$8,460.00
SER	ORT SIDE DOUBLE OR SINGLE SERVICE, 1" (TYPE "K" SOFT COPPER VICE LINE), WATER SERVICE INCLUDES METER BOX, CURB STOP, NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	30	\$981.00	\$29,430.00	\$900.00	\$27,000.00
SER	NG SIDE DOUBLE OR SINGLE SERVICE, 1" (TYPE "K" SOFT COPPER VICE LINE), WATER SERVICE INCLUDES METER BOX, CURB STOP, NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	32	\$1,647.00	\$52,704.00	\$1,775.00	\$56,800.00
INC REN ALL	T CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, LUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND MOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, DEPTHS. COMPIETE IN PLACE ASE BID WATER ITEMS	EA	1	\$1,411.00	\$1,411.00 \$375,260.58	\$875.00	\$875.00
DACE DID CA	ANTARY COMER ITEMS						. ,
1. 8" F	NITARY SEWER ITEMS V/C SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING D BACKFILL, COMPLETE IN PLACE	LF	1931	\$38.67	\$74,671.77	\$40.00	\$77,240.00
	PVC SEWER PIPE, ASTM D-2241, SDR 26, 8' - 12' CUT, INCLUDES BEDDING D BACKFILL, COMPLETE IN PLACE	LF	1832	\$42.96	\$78,702.72	\$43.00	\$78,776.00
	PVC SEWER PIPE, ASTM D-2241, SDR 26, 12' - 16' CUT, INCLUDES DDING AND BACKFILL, COMPLETE IN PLACE	LF	97	\$55.10	\$5,344.70	\$43.00	\$4,171.00
	PVC SEWER PIPE, ASTM D-2241, SDR 26, 16' - 20' CUT, INCLUDES DDING AND BACKFILL, COMPLETE IN PLACE	LF	564	\$50.70	\$28,594.80	\$52.30	\$29,497.20
	NCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL DS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	6466	\$0.10	\$646.60	\$0.65	\$4,202.90
	NDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	23	\$3,294.00	\$75,762.00	\$4,500.00	\$103,500.00
	RA VERTICAL DEPTH OF SANITARY SEWER MANHOLES 'ER 8' DEPTH), ALL SIZES, COMPLETE IN PLACE	VF	55	\$150.00	\$8,250.00	\$350.00	\$19,250.00
	NDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, MPLETE IN PLACE	EA	1	\$1,250.00	\$1,250.00	\$1,100.00	\$1,100.00

BID OPENING DATE:

TABULATION BY:

LJA JOB NO.

TABULATION DATE:

BID OPENING LOCATION:

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025 LIA ENGINEERING, INC. S. YOUNG

MARCH 04, 2025

1931-9027D (9.2)

				5) LONNIE LISCH	HKA COMPANY, LP	6) CRA(CON, INC
	I					+	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
9	. LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	30	\$2,839.70	\$85,191.00	\$5,220.00	\$156,600.00
10	. SHORT SIDE SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	31	\$1,344.38	\$41,675.78	\$2,300.00	\$71,300.00
11	. SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD TO BE INSTALLED ON EXISTING 8" LINE, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$7,878.00	\$7,878.00	\$2,500.00	\$2,500.00
12	. REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$450.00	\$900.00	\$600.00	\$1,200.00
13	. VIDEO INSPECTION AND CLEANING OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	4424	\$1.95	\$8,626.80	\$4.00	\$17,696.00
14	. ADDITIONAL COST FOR SANITARY SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	1000	\$15.00	\$15,000.00	\$10.00	\$10,000.00
	. DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE IAL BASE BID SANITARY SEWER ITEMS	LF	100	\$25.00	\$2,500.00 \$434,994.17	\$25.00	\$2,500.00 \$579,533.10
DACEDI	D DRAINAGE ITEMS						
	A2" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	410	\$220.00	\$90,200.00	\$233.00	\$95,530.00
2	. 48" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	748	\$271.00	\$202,708.00	\$265.00	\$198,220.00
3	. 72" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	44	\$663.47	\$29,192.68	\$700.00	\$30,800.00
4	. 24" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	610	\$72.57	\$44,267.70	\$95.00	\$57,950.00
5	. 30" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1364	\$115.00	\$156,860.00	\$101.00	\$137,764.00
6	. 36" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	364	\$121.00	\$44,044.00	\$114.00	\$41,496.00
7	. 42" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	84	\$151.20	\$12,700.80	\$136.00	\$11,424.00

6) CRACON, INC

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

 ${\bf CITY\ OF\ ROSENBERG,\ FORT\ BEND\ COUNTY,\ TEXAS}$

5) LONNIE LISCHKA COMPANY, LP

MARCH 04, 2025 LJA ENGINEERING, INC.

S. YOUNG MARCH 04, 2025

1931-9027D (9.2)

			3) LOINNE LISE	IKA COMPANI, LF	o) chie	OIV, IIVC
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
8. 48" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMA POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL C INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLAC	CUTS,	1969	\$149.10	\$293,577.90	\$168.00	\$330,792.00
 60" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMA POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL C INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE 	CUTS,	516	\$209.48	\$108,091.68	\$277.00	\$142,932.00
10. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS COMPLETE IN PLACE	S, LF	6109	\$0.10	\$610.90	\$0.65	\$3,970.85
 REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE 	EA	11	\$5,995.50	\$65,950.50	\$5,800.00	\$63,800.00
12. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$9,860.00	\$39,440.00	\$15,000.00	\$60,000.00
13. OVERSIZED REINFORCED CONCRETE JUNCTION BOX WITH TYPE "C" MANHOLE TOP (SEE DETAIL SHEETS 22-24, ATTACHMENT A), INCLUE ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA DES	6	\$56,230.00	\$337,380.00	\$22,000.00	\$132,000.00
14. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER LARGER, WITH TYPE "E" INLET TOP, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	R AND EA	4	\$8,800.00	\$35,200.00	\$16,000.00	\$64,000.00
15. STAGE I – REINFORCED CONCRETE TYPE "H-2" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$2,200.00	\$44,000.00	\$2,800.00	\$56,000.00
16. STAGE II – REINFORCED CONCRETE TYPE "H-2" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$1,518.00	\$30,360.00	\$2,175.00	\$43,500.00
17. STAGE I – REINFORCED CONCRETE TYPE "H-2" INLET W/5' EXTENSIO INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEP COMPLETE IN PLACE		2	\$8,364.00	\$16,728.00	\$2,285.00	\$4,570.00
18. STAGE II – REINFORCED CONCRETE TYPE "H-2" INLET W/5' EXTENSIC DEPTHS, COMPLETE IN PLACE	ON, ALL EA	2	\$4,640.00	\$9,280.00	\$2,550.00	\$5,100.00
19. STAGE I – REINFORCED CONCRETE TYPE "E" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,250.00	\$4,500.00	\$2,250.00	\$4,500.00
20. STAGE II – REINFORCED CONCRETE TYPE "E" INLET, ALL DEPTHS, COI IN PLACE	MPLETE EA	2	\$2,250.00	\$4,500.00	\$2,600.00	\$5,200.00
21. REMOVE AND OFFSITE DISPOSAL OF EXISTING 18" CONCRETE RIP-RA COMPLETE IN PLACE	AP, SY	42	\$35.00	\$1,470.00	\$41.00	\$1,722.00
22. 8" BRICK PLUG FOR 24" PPP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$290.00	\$290.00	\$600.00	\$600.00
23. 8" BRICK PLUG FOR 36" PPP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$390.00	\$390.00	\$700.00	\$700.00

6) CRACON, INC

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

 ${\bf CITY\ OF\ ROSENBERG,\ FORT\ BEND\ COUNTY,\ TEXAS}$

5) LONNIE LISCHKA COMPANY, LP

MARCH 04, 2025 LJA ENGINEERING, INC.

S. YOUNG

MARCH 04, 2025 1931-9027D (9.2)

NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
24.	8" BRICK PLUG FOR 42" PPP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$450.00	\$450.00	\$850.00	\$850.00
25.	8" BRICK PLUG FOR 60" PPP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$625.00	\$625.00	\$1,200.00	\$1,200.00
26.	VIDEO INSPECTION AND CLEANING OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	6109	\$1.90	\$11,607.10	\$4.00	\$24,436.00
27.	ADDITIONAL COST FOR STORM SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	1000	\$15.00	\$15,000.00	\$20.00	\$20,000.00
28.	DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1000	\$25.00	\$25,000.00	\$25.00	\$25,000.00
29.	CONNECT PROPOSED 48" RCP STORM SEWER TO EXISTING 48" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$600.00	\$600.00
30.	REMOVE AND OFFSITE DISPOSAL OF EXISTING 48" RCP STORM SEWER 8" BRICK WALL PLUG AND CONNECT PROPOSED 48" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$900.00	\$900.00
31.	REMOVE AND OFFSITE DISPOSAL OF EXISTING 42" RCP STORM SEWER 8" BRICK WALL PLUG AND CONNECT PROPOSED 42" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$855.00	\$855.00
32.	REMOVE AND OFFSITE DISPOSAL OF EXISTING 72" RCP STORM SEWER 8" BRICK WALL PLUG AND CONNECT PROPOSED 72" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$1,400.00	\$1,400.00
SUBTOT	AL BASE BID DRAINAGE ITEMS				\$1,629,624.26	_	\$1,567,811.85
	D WS&D MISCELLANEOUS ITEMS INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	15882	\$2.10	\$33,352.20	\$2.00	\$31,764.00
2.	INSTALL AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$2,520.00	\$2,520.00	\$1,700.00	\$1,700.00
3.	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,400.00	\$1,400.00	\$1,800.00	\$1,800.00
4.	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$12,560.00	\$12,560.00	\$700.00	\$700.00
5.	ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	23	\$50.00	\$1,150.00	\$500.00	\$11,500.00
6.	INLET PROTECTION BARRIER FOR STAGE II INLET, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	40	\$50.00	\$2,000.00	\$65.00	\$2,600.00
7.	BROADCASTING SEEDING FOR LOTS, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	22	\$4,000.00	\$88,000.00	\$2,300.00	\$50,600.00

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025

LJA ENGINEERING, INC.

S. YOUNG

MARCH 04, 2025 1931-9027D (9.2)

				5) LONNIE LISCHKA COMPANY, LP		6) CRACON, INC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
	HYDROMULCH SEEDING FOR R.O.W., INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	3	\$3,500.00	\$10,500.00	\$2,500.00	\$7,500.00
9	EXTRA CEMENT STABILIZED SAND PER GEOTECHNICAL REPORT (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$50.00	\$5,000.00	\$50.00	\$5,000.00
10	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$23,934.44	\$23,934.44	\$3.50	\$3.50
11	. CITY OF ROSENBERG PERMIT FEE, COMPLETE IN PLACE	LS	1	\$45,395.00	\$45,395.00	\$29,500.00	\$29,500.00
12	. INCENTIVE PAYMENT FOR EARLY ACHIEVEMENT OF SUBSTANTIAL	DAY	20	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00
SUBTOT	COMPLETION UP TO A MAXIMUM OF 20 DAYS 'AL BASE BID WS&D MISCELLANEOUS ITEMS			-	\$245,811.64		\$162,667.50
	ATE BID ALTERNATE NO. 1 ITEMS 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	1218	\$67.53	\$82,251.54	\$63.00	\$76,734.00
2	. 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	15596	\$61.78	\$963,520.88	\$51.00	\$795,396.00
3	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	7411	\$4.03	\$29,866.33	\$5.00	\$37,055.00
4	. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1438	\$4.03	\$5,795.14	\$6.00	\$8,628.00
5	. 3" TYPE "D" HOT MIX ASPHALT PAVEMENT WITH 8" BLACK BASE AND PRIME COAT, COMPLETE IN PLACE	SY	557	\$144.84	\$80,675.88	\$89.00	\$49,573.00
6	. 8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	1989	\$4.60	\$9,149.40	\$3.50	\$6,961.50
7.	6" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	17433	\$3.74	\$65,199.42	\$3.50	\$61,015.50
8	. HYDRATED LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 48LBS/SY APPLICATION RATE, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	48	\$414.00	\$19,872.00	\$350.00	\$16,800.00
9	. HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION, 36LBS/SY APPLICATION RATE, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	314	\$414.00	\$129,996.00	\$350.00	\$109,900.00
10	TYPE 7 ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	10	\$1,495.00	\$14,950.00	\$1,850.00	\$18,500.00
11	24" FULL DEPTH SAWCUT EXISTING ASPHALT EDGE AND CONNECT PROPOSED ASPHALT PAVEMENT, COMPLETE IN PLACE	LF	125	\$20.65	\$2,581.25	\$25.00	\$3,125.00
12	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	32	\$40.25	\$1,288.00	\$29.00	\$928.00
13	. TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$1,610.00	\$3,220.00	\$1,400.00	\$2,800.00
14	REMOVE AND RELOCATE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,495.00	\$1,495.00	\$455.00	\$455.00
15	. 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	11	\$11.50	\$126.50	\$17.00	\$187.00

6) CRACON, INC

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025

5) LONNIE LISCHKA COMPANY, LP

LJA ENGINEERING, INC.

S. YOUNG

MARCH 04, 2025 1931-9027D (9.2)

NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
16.	FINAL LOT GRADING, INCLUDING STRIPPING AND PROOFROLLING, EXCAVATION, HAULING, PLACEMENT AND COMPACTION OF MATERIALS, AND PLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	113	\$287.50	\$32,487.50	\$99.00	\$11,187.00
17.	FINAL RESERVE GRADING, INCLUDING STRIPPING AND PROOFROLLING, EXCAVATION, HAULING, PLACEMENT AND COMPACTION OF MATERIALS, AND PLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	10	\$862.50	\$8,625.00	\$450.00	\$4,500.00
18.	ROADWAY EXCAVATION, INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF STRIPPINGS TO APPLICABLE AREAS, COMPLETE IN PLACE	CY	1997	\$4.60	\$9,186.20	\$3.50	\$6,989.50
19.	EMBANKMENT, INCLUDES DEMUCKING, REMOVING AND DISPOSING OF EXISTING UNSUITABLE MATERIAL BEFORE PLACING FILL, HAULING, STRIPPING, STOCKPILING STRIPPINGS, PROOFROLLING, RE-APPLICATION OF STRIPPINGS TO FILL AREA, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL GRADING, COMPLETE IN PLACE	CY	2386	\$4.60	\$10,975.60	\$4.00	\$9,544.00
20.	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	96	\$57.50	\$5,520.00	\$28.00	\$2,688.00
21.	PERMANENT TRAFFIC CONTROL DEVICES FOR EVERGEEN SECTION 7, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$10,752.50	\$10,752.50	\$21,000.00	\$21,000.00
22.	TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, ALL PHASES, (FLAGGERS, CONES, ETC), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE	LS	1	\$4,025.00	\$4,025.00	\$12,000.00	\$12,000.00
23.	AS BUILT SURVEY OF ALL PAVEMENT HIGH POINTS AND LOW POINTS, RESERVES, INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	LS	1	\$3,864.00	\$3,864.00	\$12,000.00	\$12,000.00
24.	DRAINAGE SWALE WITHIN RESERVES TO ENSURE POSITIVE DRAINAGE TOWARDS TYPE "E" INLETS, COMPLETE IN PLACE	LF	353	\$9.20	\$3,247.60	\$6.00	\$2,118.00
25.	REGRADE AND RE-ESTABLISH SIDE SLOPE AND EXISTING DRAINAGE SWALE TO ENSURE POSITIVE DRAINAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	2051	\$9.20	\$18,869.20	\$6.00	\$12,306.00
26.	REGRADE EXISTING ROADSIDE DITCH TO EXISTING OR BETTER CONDITION UPON COMPLETION OF CONSTRUCTION, COMPLETE IN PLACE	LF	525	\$9.20	\$4,830.00	\$5.00	\$2,625.00
27.	DE-MUCK AND FILL EXISTING DRAINAGE SWALE	LF	25	\$115.00	\$2,875.00	\$7.00	\$175.00
28.	REMOVE AND DISPOSE OF EXISTING DRIVEWAY, COMPLETE IN PLACE	SY	308	\$16.05	\$4,943.40	\$10.00	\$3,080.00
29.	DUAL 6" PVC IRRIGATION SLEEVE, SCHEDULE 40, COMPLETE IN PLACE	LF	58	\$57.50	\$3,335.00	\$80.00	\$4,640.00
30.	24" STORM SEWER CULVERTS, ASTM C-76 CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	246	\$105.00	\$25,830.00	\$95.00	\$23,370.00
31.	REINFORCED CONCRETE TYPE "D" INLET, INCLUDES INLET PROTECTION BARRIER, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$2,460.00	\$9,840.00	\$3,150.00	\$12,600.00

BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES

TO SERVE EVERGREEN SECTION 7

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 04, 2025 LJA ENGINEERING, INC.

s. YOUNG

MARCH 04, 2025 1931-9027D (9.2)

				5) LONNIE LISCHKA COMPANY, LP		6) CRACON, INC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
	2. 6:1 SAFETY END TREATMENTS FOR 24" RCP STORM	EA	4	\$2,890.00	\$11,560.00	\$2,750.00	\$11,000.00
SEWER CULVERTS, COMPLETE IN PLACE							
33. CITY OF ROSENBERG PERMIT FEE, COMPLETE IN PLACE		LS	1	\$33,200.00	\$33,200.00	\$29,500.00	\$29,500.00
34. FORT BEND COUNTY CONSTRUCTION PERMIT FOR CONSTRUCTION OF IMPROVEMENTS IN EXISTING RIGHT OF WAY, INCLUDES BONDS, COMPLETE IN PLACE		LS	1	\$1,000.00	\$1,000.00	\$12,000.00	\$12,000.00
3	5. INCENTIVE PAYMENT FOR EARLY ACHIEVEMENT OF SUBSTANTIAL COMPLETION UP TO A MAXIMUM OF 20 DAYS	DAY	20	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00
3	6. DEDUCT BASE BID WS&D MISCELLANEOUS ITEM NO. 12 INCENTIVE PAYMENT FOR EARLY ACHIEVEMENT OF SUBSTANTIAL COMPLETION UP TO A MAXIMUM OF 20 DAYS	DAY	20	-\$1,000.00	-\$20,000.00	-\$1,000.00	-\$20,000.00
SUBTO	TAL ALTERNATE BID ALTERNATE NO. 1 ITEMS			•	\$1,614,953.34		\$1,381,380.50
BID SUMMARY							
BASE BID WATER ITEMS					\$375,260.58		\$398,350.30
BASE BID SANITARY SEWER ITEMS					\$434,994.17		\$579,533.10
BASE BID DRAINAGE ITEMS					\$1,629,624.26		\$1,567,811.85
BASE B	BASE BID WS&D MISCELLANEOUS ITEMS				\$245,811.64		\$162,667.50
TOTAL AMOUNT BASE BID					\$2,685,690.65		\$2,708,362.75
ALTER	NATE BID						
TOTAL AMOUNT BASE BID					\$2,685,690.65		\$2,708,362.75
ALTERNATE NO. 1 ITEMS					\$1,614,953.34		\$1,381,380.50
TOTAL ALTERNATE BID PLUS BASE BID				, T	\$4,300,643.99		\$4,089,743.25